Check of cos@z of J /i — AA

J/ = A(- prt)A(-> nr®), Measure a,

J/ = A= pr)A(- aAn®), Measure @
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Check the Single Tag Efficiency

e Data && MC : J /i » A(— pr~)A(— anything)

@ Tag a by A - p]‘[_ N * Tracking && PID
» Initial && secondary Vertex Fit
@ SelectaAby A — prct AL
y — pT Nn « x%.<15

« |M,; —1.1157| < 0.008 (GeV /c?)
@ eff = n/N «  Mjecol € [1.069,1.152] GeV /c?
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Check the rec Efficiency of A - nr®
e Data && MC : J /Y - A(= prt) A(— nrt?)

@ TagaAbyA - prt N

@ SelectaAby A - nn® n

@ eff = n/N

Nsig = 55671 + 299
Nbkg = 1418 * 187
4000 | N, ¥>/ndf = 1.20
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nsig = 22734 * 161

nbkg = 2135 + 73
n, x2/ndf = 1.22
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Next

- Correct the efficiency of 7° by J /1 - An~ 2% (- pr®) + c.c.



